
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

47 + 500 = 796 + 3 =

986 + 700 = 5 + 750 =

790 + 736 = 682 + 55 =

859 + 264 = 812 + 14 =

914 + 977 = 235 + 370 =

90 + 811 = 646 + 287 =

305 + 349 = 64 + 387 =

915 + 200 = 608 + 901 =

856 + 218 = 926 + 695 =

48 + 602 = 704 + 982 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

47 + 500 = 547 796 + 3 = 799

986 + 700 = 1686 5 + 750 = 755

790 + 736 = 1526 682 + 55 = 737

859 + 264 = 1123 812 + 14 = 826

914 + 977 = 1891 235 + 370 = 605

90 + 811 = 901 646 + 287 = 933

305 + 349 = 654 64 + 387 = 451

915 + 200 = 1115 608 + 901 = 1509

856 + 218 = 1074 926 + 695 = 1621

48 + 602 = 650 704 + 982 = 1686
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